M@@ﬁ@%@;ﬁ

Rerdweare™

ZA

Date

August 2020

and subject to change.

©2019 Spectrum Brands, Inc.

B C
|
Material: Steel
THREAD "E" Finish: Zinc Plated
CATALOG No. | SKU No. DESCRIPTION SIZE " . 'CD'MENS'OS' - PACKAGE STYLE | QPP | QPR
2014BC  |N220-418 | 000#, SCREW EYE, LARGE ZN | #000, 3-7/8" [2;. a [g{ g] [1461;/. %] [55. g | #BTPITYPEAB LOOSED 1| 10
2014BC | N220-541 | 000#, SCREW EYE, LARGE ZN | #000, 3-7/8" [2;. 4 [3{ g] [1461.". %] [55. g | #OTPITYPEAB LOOSED 1 | 25
V2014  |N188-417 | 000#, SCREW EYE, LARGE ZN | #000, 3-7/8" [2_,}‘ a [3{ g] [?611/. %] [5& g | #8TPITIPEAB CARDED 2 | 20
2014BC | N220-426| O#, SCREW EVE, LARGEZN | #0, 2-7/8" ‘[32’11]6 [57’_166] [2727’§] [‘3'1‘ ’g‘] 3/8-7 LOOSED 1 | 20
2014BC  |N220-558| O#, SCREW EYE, LARGEZN | #0, 2-7/8" ‘[32’1‘]6 [57’.‘6(] [2727’3] [‘3'1‘ ’._;‘] 3/8-7 LOOSED 1 | s0
V2014 [N185983| O#, SCREW EYE, LARGEZN | #0, 2-7/8" 1[32’11]6 E’7’_166] [2727’31 [‘3'1‘ ’._;‘] 3/8-7 CARDED 2 | 2
2014BC  |N220-434| 2#, SCREW EYE, LARGEZN | #2, 2-5/8" [2134?32] [y ‘7‘] [26-5./2] [12}; ’g’] 5/16-9 LOOSED 1 | 20
2014BC  |N220-566| 2#, SCREW EYE, LARGEZN | #2, 2-5/8" [2134?32] [é{ ‘7‘] [%-g./% [12-51 ’S] 5/16-9 LOOSED 1 | s0
V2014 [N185991| 2#, SCREW EYE, LARGEZN | #2, 2-5/8" [2134?32] [é{ ‘7‘] [%'gfg] [12'g ’S] 5/16:9 CARDED 2 | 2
2014BC  |N194-548| 4#, SCREW EYE, LARGEZN | #4, 2-3/16" [15_4?5] [74372] %52’ ‘6? E253’ “9? #16-10 TYPE AB LOOSED 1 | s00
V2014  |N119-198| 4#, SCREW EYE, LARGEZN | #4,2-3/16" [155’.85] [75’372] %535’ ‘6? 6253’.196] #16-10 TYPE AB CARDED 3 | 30
2014BC  |N324-657| 4#, SCREW EYE, LARGEZN | #4, 2-3/16" [15é§5] [75’372] %535’ 16? [1253{.196] #16-10 TYPE AB LOOSED 10 | 100
2014TP  |[N100-206| 4#, SCREW EVE, LARGEZN | #4, 2-3/16" [155{?5] [75’372] %5?,)’ ‘6‘]5 [‘253"‘9? #16-10 TYPE A TUB PACK 5 | s
V2014 |N119-222| 6#, SCREW EYE, LARGEZN | #6, 1-15/16" 6173’352] ?4?86] ‘[' ‘195-/31]6 [13éf‘1] #10 TPI TYPE AB CARDED 4 | 40
2014BC  |N324-665| 6#, SCREW EYE, LARGEZN | #6, 1-15/16" 8173’352] [3‘{.‘8(] 1[-‘13(;]6 [139’f‘1] #10 TPI TYPE AB LOOSED 10 | 100
2014TP  |N100-205| 6#, SCREW EYE, LARGEZN | #6, 1-15/16" 6173’352] E"CBG] ‘[' ‘13[31]6 [13éf‘1] #10 TPI TYPE AB TUB PACK 5 | s
V2014 [N119-263| 8#, SCREW EYE, LARGEZN | #8, 1-5/8" [1152’?()2] [1135?22] 1[;51’]8 [11’ _16(] #12-12 TYPE AB CARDED 6 | 60
2014BC  |N324-673| 8#, SCREWEVE, LARGEZN | #8, 1-5/8" [‘15'2"302] 6136?22] ‘[;151’]8 [‘1’ .‘6? #1212 TYPE AB LOOSED 10 | 100
2014TP  |N100-217| 8#, SCREW EVE, LARGEZN | #8, 1-5/8" 6152’?()2] 6135?22] 1[;151’]8 [‘1’ _166] #12-12 TYPE AB TUB PACK 50 | 5
1 DO NOT SCALE 2014 See Table
Revision Dimensions are nominal Family Name SKU

SCREW, LARGE EYE, ZN, 2014

Description




	Sheet 1
	Views
	new_view_4
	new_view_5



